

22. Since  $-3 \leq 2$ , we have  $f(-3) = 5$ . Since  $0 \leq 2$ , we have  $f(0) = 5$ . Since  $2 \leq 2$ , we have  $f(2) = 5$ . Since  $3 > 2$ , we have  $f(3) = 2(3) - 3 = 3$ . Since  $5 > 2$ , we have  $f(5) = 2(5) - 3 = 7$ .

24. Since  $-5 < 0$ , we have  $f(-5) = 3(-5) = -15$ . Since  $0 \leq 0 \leq 2$ , we have  $f(0) = 0 + 1 = 1$ . Since  $0 \leq 1 \leq 2$ , we have  $f(1) = 1 + 1 = 2$ . Since  $0 \leq 2 \leq 2$ , we have  $f(2) = 2 + 1 = 3$ . Since  $5 > 2$ , we have  $f(5) = (5 - 2)^2 = 9$ .